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000000000 (Maple)

Maple: DD OUODOOOOOODOOOOODO

o 0D f(x), f'(x), 724

' Ox2 a},l

diff(f,x),diff(£f(x),x,x), diff(f,x,x,y,y)

e (00)0DO [ f(xdx
int(£,x)

f:=diff(log(sqrt((l-cos(x))/(1+cos(x)))),x);

g:=simplify(£f);

h:=int(g,x);
In(csc(x)-cot(x))
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OO000000 (Risal/Asir)

[1833] F=x"32+8*x"28+20%x"24+2632%x"20-30490*x"16
+74872%x"12+23316%x" 8+14904*x"4+1;

X" 32+8%x"28+20%x"24+2632%x"20-30490*x " 16+74872%x" 12
+23316%x"8+14904*x"4+1

Osec(1.001e-05sec)

[1834] fctr(F);
[[1,1],[x"16+4*x"12-16*x"11+80%*x"9+2*x"8+160*x"7
+128*x"6-160%*x"5+28%x"4-48*x"3+128*x"2-16%*x+1,1],
[x716+4%x"12+16*x"11-80*x"9+2%x"8-160*x"7+128*x"6
+160%x"5+28*x"4+48%x"3+128%x"2+16*x+1,1]]
0sec(0.000699sec)
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200000000 (Maple)

plot3d(f,x=a..b,y=c..d)

plot3d(x"3+y~3-3*x*y,x=-5..5,y=-5..5);
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